
DR6036C-CL
DR6036C-RG

36" x 36" Rround Sliding Shower Door

Dimension of shower door:

Profile adjustment : +10mm/ 3/8"

854~864mm

(33-5/8"~34")
854~864mm

(33-5/8"~34")

17
70

m
m

(6
9-

11
/1

6"
)

Rev. April 11, 2018

(854~864)mm x (854~864)mm x 1770mm(H) / (33-5/8"~34") x (33-5/8"~34") x 69-11/16"(H) 



General Information
* Informations générales

Notes:Safety glass can not be re-worked
*Notes : Le verre de sécurité ne peut être re-travaillé
Please read these instructions carefully before start of installation.
Special care should be taken when drilling walls to avoid hidden pipes or electrical cables.
Note:This product is heavy and may require two people to install.
* Bien lire ces instructions avant de débuter l’installation.

Notes : Ce produit est lourd et peut nécessiter deux personnes pour l'installation.
Aftercare instructions
Instructions d’entretien

Please keep these instructions for aftercare and customer service details.

This product is heavy and may require two people to install
Notes : Ce produit est lourd et peut nécessiter deux personnes pour l'installation.

* Après usage, votre douche devrait être nettoyée avec de l’eau et du savon. Ceci est particulièrement
important dans les districts où l’eau dure et le calcium peuvent causer des accumulations insolubles. Les
détergents abrasifs ne doivent pas être utilisés. Ne pas mettre en contact avec des produits chimiques
forts tel que les solvants organiques et décapants. Les nettoyants à vitre peuvent être utilisés, mais avec
précaution. Dans le doute contactez le manufacturier du produit en question.

After use,your shower should be cleaned with soap and water.This is particularly important in hard water
districts where insoluble lime salts may be deposited and allowed to build up.Cleaners of a gritty or
abrasive nature should not be used.Care should be taken to avoid contact with strong chemicals can be
used but with cauition,if in doubt contact the manufacturer of the cleaner in question.

* Veuillez garder ces instructions pour l’entretien et pour le service à la clientèle.

Please inspect the product immediately upon receipt for transit damage,missing packs/parts or
manufacturing fault.Damage reported later cannot be accepted.Please handle the product with care
avoiding knocks and shock loading to all sides and edges of the glass
* Prière de bien inspecter le produit dès la réception pour s’assurer qu’il n’a aucun défaut, bris ou pièces
manquantes. Les défauts qui sont signalés plus tard (après installation) ne pourront être acceptés.
Manipulez le produit avec soins en évitant tous coups et chocs de tous les cotés et les bords du verre.

Des précautions particulières doivent être prises lors du perçage de murs pour éviter des tuyaux ou des
câbles électriques cachés.

Tools Required
Outils requis

6mm

3.2mm



[1]

[2]

[4]

[5]

[6]

[7]

[8]

[9]

[11]

[10]

[12]

[13]

[14]

[15]

[3]

[16]

6

2

2

4

8

6

2

4

2

2

1

4

1

8

6

6

 1

 2

 3

 4

 5

 6

 7

 9
 10

 12

 14

 15

 13

 16 8

 11

Item no.in exploded Description

(Description)

Q’TY

(Quantité)(Numéro d'items dans 
la vue exposée)

Item no.in exploded Description

(Description)

Q’TY

(Quantité)(Numéro d'items dans
la vue exposée)

Wall Plugs / Chevilles

Screws M4x35 / Vis M4x35

Screws Cover Caps / Bouchons de vis

Screws M4 X10 / Vis M4x10

Wall Posts / Montant du mur

Bottom Horizontal Rail / Rail horizontal inférieur

Water Deflectors / Déflecteurs d'eau

Fixed Panels / Panneau fixe

Door Panels / Panneau de la porte

Set Pieces / Jeu de pièces

Top Horizontal Rail / Rai horizontal supérieur

Top Rollers / Rouleaux supérieurs

Handle Sets / Jeu de poignée

Magnetic Seals / Joints magnétiques

Bottom Rollers / Rouleaux inférieurs

Screws M4X25 / Vis M4x25

Assembly Drawing / Dessin d'assemblage

2 17 Water Deflectors / Déflecteurs d'eau

[17] [17]



Step 1 / Étape 1

Step 2 / Étape 2

22

1 1

Installation steps / Étapes d'installation:

2

Screw M4x25
/ Vis M4x25

3

22

2 2
2 3

33

3

44

View from inside
*Vue de l'intérieur

17: Water Dflectors
     *Déflecteur d'eau

2

1



1

Step 3 / Étape 3

1

2

View from inside
 / Vue de l'intérieur

1a

1b

Step 4 / Étape 4

2

1

Screw M4x35
Vis M4X35

3

Make sure your measurements are correct and 
that they match the tub and door before you drill the holes
Assurez-vous que vos mesures correspondent à celles 
de la tub et de la porte avant de percer les trous



Step 6 / Étape 5

Step 5 / Étape 5

2 2

2

1

1

2

3a 3b

2b2a

3

1

1a

Ensure wall profiles are plumb.
Adjust enclosure to be square and level.
Wheels should be adjusted to square the
doors and ensure smooth running.

Assurez que les montants muraux sont d'aplomb.
Ajustez la cabine pour qu'elle soit à niveau et d'équerre.
Les roues doivent être ajustés d'équerre aux portes et 
s'assurer du bon fonctionnement.

Clip the bottom of the door in the bottom
rail The rollers are pressed down to allow
the rollers clip to be into the rail.

Fixez la partie inférieure de la porte dans le rail inférieur. 
Les rouleaux sont pressés vers le bas pour permettre 
aux rouleaux à attaches d'être dans le rail.

View from inside
 / Vue de l'intérieur

3



Step7 / Étape 7

View from inside
Vue de l'intérieur

Step 8
1a1a

Screw M4x10
 Vis M4X10

1b1b

1c1c

1a1a

Step 8 / Étape 8

1

Adjust the sliding doors using the screws located on the 
bottom of top roller assemblies.Adjust rollers so that the 
sliding doors are parallel to the fixed panels and parallel to
each other.
Note:Do not overtighten top rollers as this will cause the 
bottom rollers to jamb and or break.

Ajustez les portes coulissantes en utilisant les vis situées 
sur la partie inférieure des assemblages des rouleaux du 
haut. Ajuster les rouleaux de sorte que les portes 
coulissantes sont parallèles aux panneaux fixes et 
parallèles les unes aux autres.
Note: Ne pas trop serrer les rouleaux 
supérieurs au risque de provoquer le 
blocage et ou le bris des rouleaux inférieurs.

1 1



Attendre 24 heures pour que le silicone sèche avant utilisation.



PN-RD3613 Installation
Instruction Sheet

Manuel d'installation 



Intruction pour l'installation de la 
cabine de douche

Instructions for installing shower cabin

Front / Devant Back / Derrière

1



Step 1
A. Install vertical studs of 2" x 4" as shown in (pic.1) to be 
use as fixation base.
B. Install horizontal studs of 2" x 4" as shown in (pic.1) 
to be use as shower support.

N.B. The dimension of the verticals studs are taken from 
the outside.

Step 2
Drill the floor to accommodate the drain pipe of 2" . 
The drain must come up 1/2" above the existing floor 
level.

N.B. The distance between the wall and the drain is 
12” ± 1/4” center, check with your base for the final  
measurements.studs are taken fom the outside.

Étape 1
A. Installez les montants verticaux en 2" X 4" comme 
montré dans (fig.1) qui sera utilisé comme base de 
fixation.
B. Installez les travers horizontaux en 2" X 4" " comme 
montré dans (fig.1) qui sera utilisé comme base de 
fixation.

N.B. Les dimensions des montants verticaux sont 
prisent de l’extérieur.

Étape 2
Percez le plancher pour permettre l’installation d’un 
tuyau de drain de 2". Le drain doit être 1/2" au dessus 
du plancher existant.

N.B. La distance entre le mur et le drain est d’environ 
12 ¼" centre. Vérifiez avec votre base pour les 
mesures finales.

Étape 3
A. Installez la plomberie en considérant le guide 
d’installation ainsi qu’en suivant le code de plomberie 
local.
B. Placez la base dans le coin et assurez-vous que le 
trou de la base concorde avec la position du drain dans 
le plancher. Marquez la position de la base de l’extérieur 
(fig.3) et retirez là.

N.B. Si le trou de la base et le drain ne sont pas 
complètement alignés, faites les changements appropriés.

Step 3
A.Install the water line taking into consideration the 
installation guide of your faucet and following the local
plumbing code.
B.Position base in corner, ensure that the hole in the 
base match the position of the drain in the floor. 
Mark exteriorlocation (pic.3) of the base and remove it.

N.B. If the hole in the base and the drain are not 
completely alined,make the appropriate changes.

2

36" 36"

72"



Étape 4
Install the drain on the shower base.

N.B. Refer to the manufacture's instructions  of the 
proper installation of your drain.

Step 4
Installez le drain sur la base de douche.

N.B. Référez-vous aux instructions du fabricant pour 
l’installation de votre drain.

Step 5
A. Prepare the mortar cement mix and apply it or 5 of 6 
places where the base is to be installed. Place the cement 
in a manner that will adhere properly to your base.
B.Place the base in proper position and apply pressure to 
ensure it is in contact with the surface.

N.B. Make sure that your base in leveled both from front 
to back and left to right. 

Étape 5
A. Préparez le mélange de mortier et ciment afin de 
l’appliquez à 5 ou 6 endroits où la base doit être installée. 
Mettez le ciment de façon à ce qu’il adhère à la base.
B. Installez la base à sa place et appliquez une pression 
afin d’assurer le contact avec la surface.

N.B. Assurez vous que la base soit de niveau de l’arrière 
au devant et du coté gauche au côté droit.

Step 6
A.Once the drain is connected,check the drainage of 
the base .Plug the drain and fill the base with 2" of 
water. Check for any leakage.
B.Unplug the drain and assure that the drainage is 
completed correctly ,without any accumulation in the 
base.

N.B. Check around the drain to see if any bubble appear, 
if so your drain is not sealed correctly.

Étape 6
A. Une fois le drain connecté, vérifiez le drainage de 
la base. Fixez le drain et remplissez la base avec 2" d’eau. 
Vérifiez qu’il n’y a pas de fuite.
B. Retirez le drain et assurez-vous que le drainage s’est 
effectué correctement.

N.B. Vérifiez autour du drain pour voir s’il y a des bulles. 
Si c’est le cas, votre drain n’est pas celé correctement.

3



Step 9
Install the towel rails to left and right panels.

Step 10
Put the waterproof strip between two panels and then 
tight with screws together.

Étape 9
Installez les porte-serviettes aux panneaux de gauche 
et de droite.

Étape 10
Installez la bande d’étanchéité entre les deux panneaux 
et vissez-les ensemble.

Step 7
A.Mark and drill the base lips to secur it to studs wih a 
3/16" drill bit.
B.Use #8 1" (not included) screw to fasten the base to the 
vertical stud.

N.B. o not overtighted the scre s.

Step 8
Install the top shower to arc rear panel.

Étape 7
A. Marquez et percez la bande de la base pour la fixer 
dans les montants avec une mèche de 3/16".
B. Utilisez des vis #8 de 1" (non inclus) pour fixer la base 
dans les montants.

N.B. Ne pas trop vissez.

Étape 8
Installez le dessus de douche au panneau arrière arqué.

4



Step 12
Put the waterproof strip betweentwo panels and then tight 
with screws together.

Étape 12
Installez la bande d’étanchéité entre les deuz panneaux 
et vissez-les ensemble.

derrière
bande d’étanchéité

devant

étanche

la bonne position pour 
l'installation de la bande 
d'étanchéité

.

.

Step 13
Install the right rear panel to the right side of the arc rear 
panel. And fix them with 5pcs M6*25 screws, but not tight
them at all.

Étape 13
Installez le panneau arrière droit au coté droit du panneau 
arrière arqué et vissez avec 5 vis M6*25 sans trop serrer.

Derrière
Back

Step 11
Install the left rear panel to the left side of the arc rear 
panel, and fix them with 5pcs M6*25 screw, but not tight 
them at all.

Étape 11
Installez le panneau arrière gauche au coté gauche du 
panneau arrière arqué et vissez avec 5 vis M6*25 sans 
trop serrer.

Derrière
Back

5



Step 14
Fix both left and right rear panels to the wall with 
18pcs M6*30 screws (not included) as showen
in diagram.

Étape 14
Fixez les panneaux arrières gauche et droit au mur 
avec 18 vis M6*30 (non inclus) comme montré dans 
l’image.

6



Shower Base Installation Manual
ase de douche

This indentation is designed to ensure 
the water goes back to the shower base, 
towards the drain.

Cette fente est conçue pour permettre à l'eau de retourner
vers l'intérieur de la base de douche, vers le drain.

Rev.April 24,2019



1.Read this manual carefully and completely before proceeding.

2.It is recommended that you wear safety glasses at all times during the installation

IMPORTANT  /  IMPORTANT

3.Prior to installation of base, all framing and plumbing work must be completed in accordance with this
instruction sheet.For renovation work, existing shower surfaces must be removed to accommodate
framing requirements. Ensure that outer wall are properly insulated, and that a vapor barrier has been
installed in accordance with established building codes.

In order to protect the acrylic surface of your base, never use scouring powder pads or other strong
solvent. Only clean with a mild detergent diluted in water or a detergent formulated specifically for
acrylic.

* Lisez attentivement ce manuel au complet avant de continuer.

* Il est recommandé de porter des lunettes de sécurité en tout temps lors de l'installation

* Avant l'installation de la base, toute la charpente et les travaux de plomberie doivent être complétés
conformément à la présente feuille d'instruction. Pour les travaux de rénovation, les surfaces murales
existantes doivent être enlevées pour installer le cadrage exigé. Assurez-vous que les murs extérieurs
sont isolés correctement  et que le pare-vapeur a été installé conformément aux codes du bâtiment.

Care for your Acrylic Shower Base / Prenez soin de votre Base de douche en acrylique

Afin de protéger la surface en acrylique de votre base, ne jamais utiliser de tampons à récurer avec
poudre ou tout autre solvant fort. Nettoyez avec un détergent doux dilué dans de l'eau ou un détergent
formulé spécifiquement pour l'acrylique.

OUTILS ET MATÉRIAUX REQUIS / TOOLS AND MATERIALS REQUIRED

PERCEUSE 
DRILL

SILICONE
SILICONE

COUTEAU DE PRECISION 
PRECISION KNIFE

RUBAN À MESURER
MEASURING TAPE

MAILLET
MALLET

NIVEAU
LEVEL

TOURNEVIS
SCREWDR

CRAYON
PENCIL

ÉQUERRE
SET SQUARE

MORTIER 
MORTAR

TRUELLE 
TROWEL

CALE 
SHIM

ESSUIE-TOUT 
TOWELS

FORETS: 1/8" 
 DRILL BITS: 1/8"

2





BS-NA3803BS-NA3801

4

38 (965mm)

38 (965mm)38 (965mm)

38 (965mm)

1
(2

5m
m

) )
m

m52(
1

)
m

m0301(
61/ 9- 04

)
m

m0301(
61/ 9- 04

4-9/16 (116mm)

4-9/16 (116mm)3-35/64 (90mm)

3-35/64 (90mm)

3-9/64 (80mm)

3-9/64 (80mm)

12 (305mm)

12 (305mm)

1-1/8 (30mm)

1-1/8 (30mm)
12 (305mm)

12 (305mm)
1-1/8 (30mm)

1-1/8 (30mm)

6 (152mm)6 (152mm)

6 (152mm) 6 (152mm)

BS-RD4001 BS-RD4003

40 (1016mm)

40 (1016mm)

)
m

m0121(
8/ 5- 74

)
m

m0121(
8/ 5- 74

40 (1016mm)

40 (1016mm)

3-35/64 (90mm) 4-9/16 (116mm)
1-1/8 (30mm)

11-13/16 (300mm)
3-9/64 (80mm)

3-9/64 (80mm)

11-13/16 (300mm)

1-1/8 (30mm)

1-1/8 (30mm)

1
(2

5m
m

) )
m

m52(
1

1-1/8 (30mm)

11-13/16 (300mm)

3-35/64 (90mm)

11-13/16 (300mm)

4-9/16 (116mm)

5
(1

27
m

m
) )

m
m721(

5

5
(1

27
m

m
) )

m
m721(

5

5 (127mm)

5 (127mm) 5 (127mm)

5 (127mm)



5

BS-RT3434 BS-RT3648-W3

52

6
8/3-2

6
6

/ 5- 2

6
6

/ 5- 2

52



BS-RT3636W3 BS-RT3636W2

6

52
1 52

1

6
2 / 1 - 2

6
2/ 1 - 2

）

）

）

）

52
1

6
8/ 3- 2

6
8/ 3- 2



59-
3/4
"(15

17m
m)

59-3/4"(1517mm)



3-
1/

2"
(8

9m
m

)

31-7/8"(8
10mm)

2-1/2"(6
5mm)

16"(4
05mm)

47-5/8"(1210mm)

23-7/8"(605mm)

2-
5/

8"
(6

6m
m

)

3/8"(10mm)

2"(52mm)

3-1/2"(90mm)4-1/2"(115mm)

BS-RT503248 W3



BS-RT513260R

9

BS-RT513260L

)
m

m56(
2/1-2

)
m

m09(
2/1-3

)
m

m09(
2/1-3

)
m

m56(
2/1-2

60 (1524mm)
30 (762mm)

2-1/8 (55mm)

3-1/2 (90mm)

32 (813mm)

16 (406.5mm)

4-1/2 (115mm)

2-1/2 (65mm)

32 (813mm)

16 (406.5mm)

4-1/2

(115mm)

2-1/2

(65mm)

60 (1524mm)

30 (762mm)

3-1/2 (90mm)

2-1/8 (55mm)

3-1/2 (90mm)

2-1/2 (65mm)

3-1/2 (90mm)

2-1/2 (65mm)

BS-RT513260W3

)
m

m56(
2/1-2

)
m

m09(
2/1-3

32 (813mm)

16 (406.5mm)

4-1/2

(115mm)
2-1/2

(65mm)

60 (1524mm)

30 (762mm)

3-1/2 (90mm)

2-1/8(55mm)

3-1/2 (90mm)

2-1/2 (65mm)

BS-RT3660W3 

3-3/8 (85mm)

4-3/8 (110mm)

3-
3/

8
(8

5m
m

)



10

BS-RT3660L BS-RT3660R



PROTECTION BASE / BASE PROTECTION

A

Enlever la  de plastique protectrice
Remove protective plastic film

Si vous faites l'installation d'une modèle en coin, svp suivre les instructions de la section 2.
If you are proceeding with the installation of a corner model, please follow instructions in section 2.

Si vous faites l'installation d'un modèle rectangulaire, svp suivre les instructions de la section 3.
If you are proceeding with the installation of a rectangular model, please follow instructions in section 3

 PRÉPARATION/PREPARATION     ②

B C

Les murs de votre salle de bain doivent être de niveau pour une installation adéquate.

The image is for reference only. 
The shape can be square, rectangular or neo-angle.

L'image est à titre de référence seulement. 
La forme peut être carrée, rectangulaire ou néo-angle.

Walls in your bathroom must be leveled for an adequate installation.

ATTENTION !

WARNING !

11



SUITE / CONTINUED

D

Mortier
Mortar

12

INSTALLATION BASE / BASE INSTALLATION

E F

FORET 1/8"   
1/8" DRILL BIT



ref.:j

ATTENTION !
Attendre 24h avant d'installer votre 
porte de douche, afin de permettre au 
mortier et à la finition de sécher 
complètement.

WARNING !
Wait 24h before proceeding with the 
installation of the shower door. This will 
ensure that the finish and mortar is dry.

Céramique
Tiles

20~30mm

SUITE / CONTINUED

G

H

13



SUITE / CONTINUED

I

VUE SECTIONNELLE / SIDE SECTION VIEW

14



A
B

C
D

90°

A 02

C
90°

D

Enlever la p llicule de plastique protectrice
Remove protective plastic lm

A 01

BASE INSTALLATIONINSTALLATION BASE / 

SUITE / CONTINUED   

15

A 03



SUITE / CONTINUED

FORET 1/8" 
1 8 DRILL BIT

A 05

A 04

SUITE / CONTINUED

16



FLOOR/PLANCHER

VUE SECTIONNELLE / SIDE SECTION VIEW

A 07

Pellicule / Film

Base / Base

Mor er / Mortar

A 06

SUITE / CONTINUED

SUITE / CONTINUED

FLOOR/PLANCHER

Mortar

IMPORTANT

17



A 08

Céramiques
Tiles

ATTENTION !
Attendre 24h avant d'installer votre 
porte de douche, a n de permettre au 
mortier et à la nition de sécher 
complètement.

WARNING !
Wait 24h before proceeding with the 
installation of the shower door. This 
will ensure that the nish and mortar 
is dry.

20~30mm

SUITE / CONTINUED

SUITE / CONTINUED

18



To whom does this warranty apply?

NADOLI offers a 10-year limited warranty on shower bases and doors from the date of purchase, exclusive to the first buyer as long as he/she 
resides in the same property. The warranty is intended for residential and/or domestic use.

Care instructions

Clean the product with water and a mild detergent. Abrasive or corrosive cleaners, steel wool, acetone, dry cleaning products or ammonia 
compounds must never be used to clean the product. If a shower mat is used, it must be removed right after each use. We recommend the use of 
cleaning products that are made for acrylic specifically.

 What is covered by the warranty?

1 Year* 10 Years*

Bases and walls Drain, drain cover, polypropylene and PVC Acrylic and fiberglass against manufacturing defects

Shower doors
Wheels, handles, diverter, screws, rails, towel bars 
and guide

Tempered glass

*From the date of purchase.

Should there be any manufacturing defects that are not covered by the warranty, the product will need to be inspected prior to following through 
with the claim. Without that verification, the brand will assume no charge and/or responsibility.

What are the exclusions?

This warranty is applicable on all NADOLI products purchased on or after January 1st, 2018.

The warranty doesn’t apply if the product is damaged as a result of misuse, overuse or non-residential use, neglect, lack of maintenance, or the 
use of corrosive or abrasive products, regardless of the person who did those damages. The warranty does not cover shipping and labour costs. 
The warranty does not apply to the normal tear and wear of the goods.

The warranty doesn’t cover the damages caused by the acts of God or breakage resulting from a shock or mishandling, regardless of the part 
played by the buyer or the installer. It also excludes the damages caused by an improper installation.

NADOLI doesn’t cover damages caused by a water leak, even if they result directly or indirectly from a product defect, except where the 
applicable legislation does not allow any exclusion or limitation following indirect or consequential damages.

It is fair to say that if the product has a manufacturing defect, it will show as soon as it is installed or shortly after. However, a leak caused by an 
improper installation could happen a long time after. Therefore, it is strongly advised to have it done by a professional.

All warranty claims must include the invoice copy.   

Should a part or product component be defective or the finish damaged following a normal domestic and residential use, NADOLI commits 

to replacing the defective part(s) to the first buyer only. NADOLI could also, in its sole discretion, commit to offer a full replacement. No 

indemnity shall be claimed for loss of enjoyment of life, loss of income or losses caused by water. 

5 A
N

S

GARANTIE
L I M I T É E

10 A
N

S

GARANTIE
L I M I T É E

10 Y
EA

RS

L I M I T E D
WARRANTY

LIMITED WARRANTY

By choosing a NADOLI product, a leader in the plumbing industry, you are sure to make the right choice. On top 
of the quality materials that are used to make their products, NADOLI’s advanced manufacturing processes also 
benefit its products’ quality and longevity. To attest to this, they decided to offer their customers a beneficial 
warranty.

We certify that our products will meet your needs with their style, but also with their manufacturing quality. To 
make sure that they are reliable and safe, each product was carefully inspected, tested and approved during the 
quality control process that is in place.

Rev. December 11, 2018



À qui la garantie s’applique-t-elle?

NADOLI offre une garantie limitée de 10 ans sur les bases et portes de douche, à partir de la date d’achat, au premier acheteur, tant et aussi 
longtemps qu’il réside la propriété. La garantie est destinée à un usage résidentiel et/ou domestique.

Consignes d’entretien

Nettoyer la surface à l’aide d’un détergent doux et de l’eau. Ne jamais utiliser de détergents abrasifs ou corrosifs, de tampons de l’aine d’acier, 
d’acétone, de produits de nettoyage à sec ou de composés d’ammoniac sur les surfaces. Si un tapis est utilisé, il doit être enlevé immédiatement 
après chaque utilisation. L’utilisation d’un nettoyant spécialement formulé pour l’acrylique est recommandée.

 Que couvre la garantie?

1 an* 10 ans*

Bases et murs Drain, couvre-drain, polypropylène et PVC
Acrylique et fibre de verre contre tout défaut de 
fabrication

Portes de douche
Roulettes, poignées, déflecteur d’eau, vis, rails, 
barre à serviette, guide

Verre trempé

*À partir de la date d’achat

S’il y a des défauts de fabrication couverts par la garantie, le produit devra être inspecté avant de donner suite à toute réclamation. Sans cette 
vérification, aucun frais et/ou responsabilité ne seront assumés par la marque.

Quelles sont les exclusions?

Cette garantie est applicable pour tous les produits NADOLI achetés en date du 1er janvier 2018 ou après.

La garantie ne s’applique pas si les dommages au produit résultent d’une utilisation non-conforme, d’un usage abusif ou non résidentiel, de 
négligence, d’un manque d’entretien, ou en raison de l’utilisation de produits corrosifs ou abrasifs et ce, peu importe qui est responsable de ces 
dommages. La garantie ne couvre pas les frais d’expédition et de main-d’œuvre. NADOLI ne garantit pas l’usure normale des composantes. 

La garantie ne couvre pas les dommages causés par les actes de Dieu ou les bris résultant d’un choc ou d’une mauvaise manutention. Elle exclut 
aussi les dommages qui résultent d’une mauvaise installation.

D’emblée, NADOLI ne couvre jamais les dommages aux biens causés par une fuite d’eau, que ceux-ci soient directement ou indirectement liés à 
un défaut du produit, sauf là où la législation applicable ne permet aucune exclusion ou limitation suite à des dommages indirects ou consécutifs.

Il est juste de préciser, s’il y a présence d’un défaut de fabrication sur le produit, il se manifestera dès l’installation ou peu de temps après. Par 
contre, si une fuite est causée par une mauvaise installation, elle ne pourra survenir que beaucoup plus tard. Il est donc fortement recommandé 
de faire appel à un professionnel. 

Toute demande de réclamation de garantie doit être accompagnée d’une copie de la facture.

Si une pièce ou composante du produit est défectueuse ou si le fini est endommagé, et ce dans le cadre d’un usage domestique et 

résidentiel normal, NADOLI s’engage à remplacer, uniquement au premier acheteur, la ou les composantes défectueuses, ou à son entière 

discrétion, à fournir une nouvelle base ou porte de douche. Aucune indemnité ne pourra être réclamée suite à la perte de jouissance de la 

vie, à la perte de revenu ou aux pertes causées par l’eau. 

5 A
N

S

GARANTIE
L I M I T É E

10 A
N

S

GARANTIE
L I M I T É E

GARANTIE LIMITÉE

NADOLI vous remercie de la confiance que vous lui avez témoignée en achetant un de ses produits et vous félicite 
pour votre nouvelle acquisition. NADOLI s’impose comme un des leaders dans l’industrie de la plomberie et offre, 
à travers l’Amérique du Nord, une large gamme de produits qui vous charmera. 

La compagnie vous assure que cette gamme de produits saura satisfaire vos besoins, en partie grâce à sa 
fabrication et à son style. De plus, le produit est testé, approuvé et soigneusement vérifié pour une utilisation 
fiable.

Rév. 11 décembre 2018



1/
2"

-1
4N

P
S

M
 M

.I.
P

.

1/
2"

-1
4N

P
T 

F.
I.P

.

Sh
ow

er
 a

rm
 / 

B
ra

s 
de

 d
ou

ch
e

Sh
ow

er
 ra

il 
/ R

ai
l d

e 
do

uc
he

Sh
ow

er
 h

ea
d 

/ T
êt

e 
de

 d
ou

ch
e

W
at

er
 s

up
pl

y 
/ E

nt
ré

e 
d'

ea
u

S1
7C

-1
52

2

V
A

LV
E

 P
R

E
S

S
IO

N
 B

A
LA

N
C

É
E

,
R

A
IL

 D
E

 D
O

U
C

H
E

 E
T

 D
O

U
C

H
E

 P
LU

IE
V

al
ve

 p
re

ss
io

n 
ba

la
nc

ée
 2

 v
oi

es
 a

ve
c 

va
lv

e 
d'

ar
rê

t,
C

on
st

ru
ct

io
n 

en
 la

ito
n 

so
lid

e 
de

 fi
ni

 lu
xu

eu
x,

D
ou

ch
et

te
 à

 m
ai

n 
su

r r
ai

l,
Fl

ex
ib

le
 5

9"
, e

nt
ré

e 
d'

ea
u,

D
ou

ch
e 

pl
ui

e 
7-

11
/1

6"
 a

ve
c 

br
as

 d
e 

do
uc

he
 d

e 
13

-3
/8

",
C

ar
to

uc
he

 c
ou

ve
rte

 p
ar

 u
ne

 g
ar

an
tie

 li
m

ité
e 

de
 2

5 
an

s,
In

st
al

la
tio

n 
si

m
pl

e.

P
R

E
S

S
U

R
E

 B
A

LA
N

C
E

 V
A

LV
E

,
S

H
O

W
E

R
 R

A
IL

 A
N

D
 R

A
IN

 S
H

O
W

E
R

 H
E

A
D

S
ol

id
 b

ra
ss

 c
on

st
ru

ct
io

n 
w

ith
 d

el
ux

e 
fin

is
h,

2 
w

ay
s 

pr
es

su
re

 b
al

an
ce

 v
al

ve
 w

ith
 s

to
p 

va
lv

e,

H
an

d 
sh

ow
er

 o
n 

ra
il,

59
" f

le
xi

bl
e,

 w
at

er
 s

up
pl

y,
7-

11
/1

6"
 ra

in
 s

ho
w

er
 h

ea
d 

w
ith

 1
3-

3/
8"

 s
ho

w
er

 a
rm

,
C

ar
tri

dg
e 

co
ve

re
d 

by
 a

 2
5-

ye
ar

 li
m

ite
d 

w
ar

ra
nt

y,
E

as
y 

to
 in

st
al

l. To
ol

s 
Yo

u 
M

ay
 N

ee
d

O
ut

ils
 r

eq
ui

s

G
ro

ov
e

jo
in

tp
lie

r
P

in
ce

s 
m

ul
tip

ris
es

P
ip

e
ta

pe
R

ub
an

 te
flo

n

A
lle

n 
ke

y
C

lé
 h

ex
ag

on
al

e

A
dj

us
ta

bl
e

w
re

nc
h

C
lé

 à
 m

ol
et

te

Fo
r m

or
e 

in
fo

rm
at

io
n 

, v
is

it 
ou

r w
eb

 s
ite

   
   

   
   

   
 w

w
w

.k
eb

of
au

ce
t.c

om
P

ou
r p

lu
s 

d'
in

fo
rm

at
io

n,
 v

is
ite

z 
no

tre
 s

ite
 w

eb
   

   
   

w
w

w
.k

eb
of

au
ce

t.c
om

R
ev

 1
2,

O
ct

.2
01

8

C
ar

to
uc

he
 d

e 
cé

ra
m

iq
ue

  
av

ec
 c

on
trô

le
 d

e 
dé

bi
t 

C
er

am
ic

 c
ar

tr
id

ge
w

ith
 v

ol
um

e 
co

nt
ro

l

S1
7C

-1
52

2

JE
TS

4

C
O

LD
FR

O
ID

H
O

T
C

H
A

U
D

O
FF

A
R

R
Ê

T

27"(685mm)

Ø
3/

4"
(2

0m
m

)

S
lid

er
 / 

G
lis

si
èr

eS
cr

ew
V

is

C
ap

 / 
C

ou
po

le
 d

e 
fin

iti
on

13
-3

/8
"(

34
0m

m
)

Ø
7-

11
/1

6"
(1

95
m

m
)



2 
w

ay
s 

pr
es

su
re

 b
al

an
ce

 v
al

ve
 

Va
lv

e 
pr

es
si

on
 b

al
an

cé
e 

2 
vo

ie
s 

R
ep

la
ce

m
en

t p
ar

ts
 / 

P
iè

ce
s 

de
 re

m
pl

ac
em

en
t 

R
P

-C
A

R
TP

B
40

C

Ø40 ceramic cartridge 
Cartouche de céramique Ø40 

R
P

-D
IV

S
17

C

 

R
P 

N
o.

N
um

ér
o 

de
 R

P

N
O

D
es

cr
ip

tio
n

Q
ua

nt
ity

Fa
ct

or
y 

N
o.

N
um

ér
o

D
es

cr
i p

tio
n

Q
ua

nt
ité

N
um

ér
o 

d'
us

in
e

1
1 1 1

2
D

iv
er

te
r c

ar
tri

dg
e 

/ C
ar

to
uc

he
 d

év
ia

tri
ce

3
H

ub
 / 

C
yl

in
dr

e 
de

 fi
ni

tio
n

4
C

er
am

ic
 c

ar
tri

dg
e 

/ C
ar

to
uc

he
 d

e 
cé

ra
m

iq
ue

1
5

Fi
x 

rin
g 

/ A
nn

ea
u 

de
 fi

xa
tio

n
1

6
W

as
he

r /
 J

oi
nt

 d
'é

ta
nc

hé
ité

1
7

W
as

he
r /

 J
oi

nt
 d

'é
ta

nc
hé

ité
1

8
D

ec
or

at
iv

e 
pl

at
e 

/ P
la

qu
e 

dé
co

ra
tiv

e
1

(1
/2

"-1
4N

P
T 

F.
I.P

.)
P

/B
 v

al
ve

 w
ith

 d
iv

er
te

r /
 V

al
ve

 p
re

ss
io

n 
ba

la
nc

ée
 a

ve
c 

dé
vi

at
eu

r 1

 

 

1/
2"

-1
4N

P
T

F.
I.P

. 

U
P

 / 
H

A
U

T 

D
O

W
N

 / 
B

A
S

1/
2"

-1
4N

P
T

F.
I.P

.

1/
2"

-1
4N

P
T

F.
I.P

.

1/
2"

-1
4N

P
T

F.
I.P

.

S
ho

w
er

 h
ea

d 
P

om
m

e 
de

 d
ou

ch
e

 

In
st

al
la

tio
n 

in
st

ru
ct

io
n 

/ I
ns

tru
ct

io
n 

d'
in

st
al

la
tio

n

G
ua

rd
G

ab
ar

it
Fi

ni
sh

ed
 W

al
l 

M
ur

 fi
ni

 
D

ec
or

at
iv

e 
pl

at
e 

Pl
aq

ue
 d

éc
or

at
iv

e 
U

P
H

A
U

T

M
IN

 1
-1

/4
" (

33
m

m
)

M
A

X
 1

-7
/8

" (
48

m
m

)

Ø7" (178mm)

A
dj

us
tin

g 
w

at
er

 te
m

pe
ra

tu
re

 / 
A

ju
st

em
en

t d
e 

la
 te

m
pé

ra
tu

re
 d

'e
au

 

C
er

am
ic

 c
ar

tr
id

ge
 

C
ar

to
uc

he
 d

e 
cé

ra
m

iq
ue

 

R
ed

 K
no

b 
B

ag
ue

 ro
ug

e 

2

Fu
nc

tio
n 

sp
ec

ifi
ca

tio
ns

 / 
S

pé
ci

fic
at

io
n 

de
s 

fo
nc

tio
ns

Ø
40

(C
ar

tri
dg

e 
/ C

ar
to

uc
he

) 

S
ho

w
er

 h
ea

d 
P

om
m

e 
de

 d
ou

ch
e

 

10
20

30
40

50
60

0.
85

1.
16

1.
37

1.
56

1.
74

1.
85

1.
08

1.
53

1.
80

2.
06

2.
11

2.
25

G
P

M

G
P

M

P
S

I
1 

G
P

M
 =

 3
.7

85
 L

P
M

B
e 

ca
us

e 
of

 d
iff

er
en

ce
 o

f c
ity

 w
at

er
 s

ys
te

m
 o

r o
th

er
s,

 w
at

er
 

pr
es

su
re

 m
ay

 d
iff

er
, a

nd
 c

au
se

 th
e 

fl
ow

 ra
te

 to
 c

ha
ng

e 
a 

lit
tle

 b
it.

 

E
n 

ra
is

on
 d

es
 d

if
fé

re
nc

es
 e

nt
re

 le
s 

sy
st

èm
es

 d
'e

au
 d

e 
vi

lle
 o

u 
au

tr
e,

 la
 p

re
ss

io
n 

d'
ea

u 
pe

ut
 v

ar
ie

r 
et

 p
ro

vo
qu

er
 u

n 
lé

ge
r 

ch
an

ge
m

en
t 

da
ns

 le
 d

éb
it

.

A
tt

en
ti

on
:

P
le

as
e 

tu
rn

 o
n 

w
at

er
 t

o 
cl

ea
r 

up
 t

he
 in

si
de

 t
ub

e 
be

fo
re

 in
st

al
lin

g 
pr

es
su

re
 b

al
an

ce
 v

al
ve

.

A
tt

en
ti

on
:

P
ar

ti
r 

l’e
au

 p
ou

r 
ne

tt
oy

er
 le

 t
ub

e 
à 

l'i
nt

ér
ie

ur
 a

va
nt

 d
’in

st
al

le
r 

la
 v

al
ve

 à
 p

re
ss

io
n 

ba
la

nc
ée

.

!

20
Al

le
n 

ke
y 

/ C
lé

 h
ex

ag
on

al
e

1

Sc
re

w
 / 

Vi
s

2

15
H

ub
 / 

C
yl

in
dr

e 
de

 fi
ni

tio
n

1
16

C
ap

 / 
C

ou
po

le
 d

e 
fin

iti
on

1

19
H

an
dl

e 
/ P

oi
gn

ée
1

17
W

as
he

r /
 J

oi
nt

 d
'é

ta
nc

hé
ité

1
189

1
10

H
an

dl
e 

/ P
oi

gn
ée

1
11

Bu
tto

n 
/ B

ou
to

n
1

Al
le

n 
sc

re
w

 / 
Vi

s 
he

xa
go

na
le

14
C

he
ck

 v
al

ve
 / 

C
la

pe
t a

nt
i-r

et
ou

r 
2 

se
t

12
Bu

tto
n 

/ B
ou

to
n

1
13

Al
le

n 
sc

re
w

 / 
Vi

s 
he

xa
go

na
le

1

6-1/8" (155mm)

9-
15

/1
6"

 (1
00

m
m

)

1 2 3 4 5

6

7

15

14

16
17

8
9 10 11

12

13

20

18

19

Diverter cartridge
Cartouche déviatrice

R
P-

D
IV

S1
7C

R
P-

C
AR

TP
B4

0C

G/Minute

H
an

d 
sh

ow
er

D
ou

ch
et

te

H
an

d 
sh

ow
er

D
ou

ch
et

te

0.
5

1.
5

2.
5 2 1


